Jeep JK 4 Door 2 Piece Installation Instructions
PLEASE READ CAREFULLY BEFORE STARTING INSTALLATION

To safely lift and install this hardtop, you will need the assistance of
at least one other person.

Follow the instructions and perform the steps in the sequence given.
Short cuts to the directions may result in an unsatisfactory installation.

WARNING!

The top on this vehicle is designed only for additional protection
against the elements.

Do not rely on the top to contain occupants within the vehicle or to
protect against intrusion of foreign objects, nor injury during an
accident.

Make sure all brackets and screws are tight. Periodically check for
tightness and retighten when necessary.

WEAR SEAT BELTS AT ALL TIMES

Parts included in the installation kit.

6 each Bolt 5/16-18 x 1 1/4

6 each Nut 5/16-18

6 each Washer 3/8 USS Flat

2 each Mid Body Hex Bolt M8 x 30

2 each 5/16” USS Flat Washers Rev. 11/10/19




1. Remove side windows. (Left & right) 2. Disengage front clips and remove 2
screws holding the retainer loop.
Remove loop. Both sides.

3. Disengage soft top in rear corner. (Left 4. Disengage soft top rear bar from
& right) retainers. (Left & right)

W

6. Disengage soft top from the top rail

5. Remove retainers. (Left & right) retainers, (Left & right)



7. Unscrew the 3 attach knobs along each 8. Remove soft top rail. (Left & right)
side. (Left & right)

_ . 10.  Disengage soft top mechanism at
9. Disengage soft top mechanism diagonal roll bar mount and remove
mount. Remove soft top from vehicle.

11. Do Not Remover Front End Seals. 12. Do Not Remover Rear End Seals.



13.  Using 2 people, place the rear section 14. Install the side rail bolts using the
on the Jeep. supplied washers and nuts. Do not
tighten.

16.  Tighten the flange bolts and mid body
bolts. Now check to make sure the
doors open and close properly. If not
loosen the top and and adjust it.

15. Install the mid body bolt and washer.
On the front of the rear section.

18.  Now install the front section. Make
sure it’s lined up even in the front.
The distance from the top to the
upper door should be the same. Now
push up on the windshield seal (red
arrows) and close the front cam locks.
Then close remaining cam locks.



19. Now connectthe _ cam locks in the
front. Then connect the middle cam lock
in the back. The connect the side cam
locks.

Made with PRIDE in the USA.
ENJOY.



ATTN: STATE OF CALIFORNIA CONSUMERS

' WARNING: cANCER AND REPRODUCTIVE HARM
L WWW.P65WARNINGS.CA.GOV.




